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Chapter 6 MathLinks 7 
Student Resource Answers

6.1 Divisibility, pages 207–209

 5. 1010, 605, 900, 325. The last digit of each number is 0 or 5.

 6. 124, 3048, 1432. The number formed by the last two digits of each number is divisible by 2 at least twice.

	 7. a) 330 is divisible by neither 4 nor 8.

b) The number is divisible by 2 because 2 is a factor of 4 and a factor of 8.
	[image: image1.wmf]3
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	 8. a)
	
	Divisible by 6
	Not Divisible by 6

	
	Divisible by 10
	35 010
9810
	31 990

	
	Not Divisible by 10
	5832
	243


b) The number is divisible by 2 because 2 is a factor of 6 and a factor of 10.

 9. a) 1, 2, 3, 4, 6, 9, 12, 18, 36
b) 1, 3, 5, 15  c) 1, 2, 4, 7, 14, 28

10. a) 1, 2, 3, 6, 9, 18
b) 1, 2, 3, 6, 9, 18, 27, 54  

c) 1, 2, 3, 4, 6, 8, 9, 12, 18, 24, 36, 72

11. a) 1, 3  b) 1, 2, 4  c) 1, 2, 3, 6

12. a) 1, 5  b) 1, 2, 4  c) 1, 3
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13. a) 
b) 4
[image: image130.jpg]


14. a) 
b) 10

15. a) 

[image: image135.jpg]


  b)   c) 
[image: image3.wmf]5

8

  d) 
[image: image4.wmf]3

4

  e) 
[image: image5.wmf]2

5

  f) 
[image: image6.wmf]3

5


16. a) 
[image: image7.wmf]3

4

  b) 
[image: image8.wmf]1

2

  c) 
[image: image9.wmf]2

5

  d) 
[image: image10.wmf]7

12

  e) 
[image: image11.wmf]1

2

  f) 
[image: image12.wmf]4

5


17. a) A, B, C, D  b) A, B, E
c) Answers may vary. Choose the flowers that can be divided into both groups of 
2 and groups of 3 because 2 and 3 are factors of 6.

18. Answers may vary.

a) 12 345  b) 1 234 698

19. a) No  b) Yes  c) No

20. Yes. Answers may vary. 2 and 3 are factors of 6; 2 and 5 are factors of 10; 
3 and 5 are factors of 15.

21. Answers may vary. A number is divisible by 9 if the sum of the digits is divisible by 3 twice.

22. a) 9 students  b) 6 komatiks

23. No. Answers may vary. It is not possible to divide 12 peaches into 0 groups.

24. 8 teams

25. a) B, D
b) B: 77 barrels; D: Answers may vary. 122 pails and 3 jugs

26. a) 3 cm  b) 4 cm

27. 61 sandwiches

28. a) 1  b) 2  c) 0

6.2 Add Fractions With Like Denominators, pages 214–216

 5. Estimates may vary. 

a) 
[image: image13.wmf]+=

224

666

  b) 
[image: image14.wmf]+=

12

1

33

  c) 
[image: image15.wmf]+=

415

666


 6. Estimates may vary. 

a)  
[image: image16.wmf]+=

112

333

  b) 
[image: image17.wmf]+=

213

666

  c) 
[image: image18.wmf]+=

213

444


 7. a) 
[image: image19.wmf]+==

1121

4442

  b) 
[image: image20.wmf]+==

235

1

555


c) 
[image: image21.wmf]+==

2241

8882


 8. a) 
[image: image22.wmf]+=

213

444

  b) 
[image: image23.wmf]+==

5163

8884


c) 
[image: image24.wmf]+=

437

101010


 9. a) 
[image: image25.wmf]1

3

  b) 
[image: image26.wmf]1

2

  c) 
[image: image27.wmf]4

5

  d) 
[image: image28.wmf]1

2

  e) 1  f) 
[image: image29.wmf]1

3


10. a) 
[image: image30.wmf]3

7

  b) 
[image: image31.wmf]5

6

  c) 
[image: image32.wmf]2

3

  d) 
[image: image33.wmf]2

3

  e) 1  f) 
[image: image34.wmf]3

5


11. Yes. 
[image: image35.wmf]+==

459

1

999


12. a) No. His diagrams were not the same size.
b) Answers may vary. For example, 


[image: image36.jpg]<o ~NIm




13. a) No  b) 
[image: image37.wmf]=

42

105


14. No. They used 
[image: image38.wmf]3

4

 of the batter. 
[image: image39.wmf]+==

5163

8884
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15. a), b)
	


c) 
[image: image40.wmf]+==

1121

4442
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16. 
[image: image41.wmf]3

4

h

. Answers may vary. For example,
	


17. a) Answers may vary. For example, 


[image: image42.jpg]


  

b) Answers may vary. For example, 
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c) 
[image: image44.wmf]5

8

. Answers may vary. 

[image: image45.wmf]=

515

824

 and 
[image: image46.wmf]=>

711514

.

12242424


18. a) 
[image: image47.wmf]9

8


b) No. She has 1 bag of beads 
[image: image48.wmf]=

8

8

 bag of beads.

6.3 Subtract Fractions With Like Denominators, pages 220–221

 4. a) 
[image: image49.wmf]-=

624

666

  b) 
[image: image50.wmf]-=

211

333

  c) 
[image: image51.wmf]-=

413

666


 5. a) 
[image: image52.wmf]-=

211

333

  b) 
[image: image53.wmf]-=

312

666

  c) 
[image: image54.wmf]-=

413

444


 6. a) 
[image: image55.wmf]-=

532

777

  b) 
[image: image56.wmf]-==

8442

1010105


c) 
[image: image57.wmf]-==

7341

1212123


 7. a) 
[image: image58.wmf]-=

431

555

  b) 
[image: image59.wmf]-==

5141

8882


c) 
[image: image60.wmf]-==

11382

1212123


 8. a) 
[image: image61.wmf]1

7

  b) 
[image: image62.wmf]1

3

  c) 
[image: image63.wmf]1

3

  d) 
[image: image64.wmf]2

9

  e) 
[image: image65.wmf]2

5

  f) 
[image: image66.wmf]3

5


 9. a) 
[image: image67.wmf]2

3

  b) 
[image: image68.wmf]7

9

  c) 0  d) 
[image: image69.wmf]1

2

  e) 
[image: image70.wmf]7

10

  f) 
[image: image71.wmf]1

2


10. 
[image: image72.wmf]1

6

 of the pizza is left.

11. Yes, he will be halfway through because 
[image: image73.wmf]-=

311

442

.

12. a) 
[image: image74.wmf]4

9

. No.  b) She needs 
[image: image75.wmf]1

9

 of a bag more.

13. 
[image: image76.wmf]5

8

 and 
[image: image77.wmf]3

8


14. a) No  b) He needs 
[image: image78.wmf]1

5

 of a box more.

Chapter 6 Review, pages 222–223

 1. lowest terms  2. divisible

 3. common factor

	 4.
	
	2
	3
	4
	5
	6
	8
	9
	10

	
	630
	✔
	✔
	✘
	✔
	✔
	✘
	✔
	✔

	
	5184
	✔
	✔
	✔
	✘
	✔
	✔
	✔
	✘

	
	2035
	✘
	✘
	✘
	✔
	✘
	✘
	✘
	✘

	
	810
	✔
	✔
	✘
	✔
	✔
	✘
	✔
	✔


 5. a) 210 is divisible by 2 because the last digit is an even number, and 210 is divisible by 5 and 10 because the last digit is 0.
b) 1232 is divisible by 4 because 32 
is divisible by 2 at least twice, and 
1232 is divisible by 8 because 1232 
is divisible by 2 at least 3 times.
c) 333 is divisible by 3 and 9 because the sum of the digits is divisible by 3 and 9. 333 is not divisible by 6 because it must be divisible by both 2 and 3 and it is not divisible by 2.

 6. Answers may vary.


3 × 5= 15
15 ÷ 3 = 5


2 × 5 = 10
10 ÷ 2 = 5


1 × 5 = 5
5 ÷ 1 = 5


0 × ? = 5
5 ÷ 0 = ?


The pattern shows that there is no number that 0 can be multiplied by that will equal 5. That means that when 5 is divided by 0, there is no possible answer.

	[image: image133.jpg]


 7. a)


	

	The greatest common factor of 12 and 18 is 6.


	[image: image134.jpg]


b)


	

	The greatest common factor of 15 and 21 is 3.


 8. a) 
[image: image79.wmf]1

2

  b) 
[image: image80.wmf]3

5

  c) 
[image: image81.wmf]2

3

  d) 
[image: image82.wmf]5

8

  e) 
[image: image83.wmf]3

4

  f) 
[image: image84.wmf]5

12


 9. 6 groups

10. a) 
[image: image85.wmf]+==

112

1

222

  b) 
[image: image86.wmf]+==

2242

6663


c) 
[image: image87.wmf]+=

112

333


11. a) 
[image: image88.wmf]+==

1451

1010102

  b) 
[image: image89.wmf]+=

213

555


c) 
[image: image90.wmf]+==

4263

1010105


12. a) 1  b) 
[image: image91.wmf]1

2

  c) 
[image: image92.wmf]1

2

  d) 
[image: image93.wmf]4

5

  e) 
[image: image94.wmf]1

7

  f) 
[image: image95.wmf]6

7


13. Yes, 
[image: image96.wmf]+==

358

1

888


14. a) 
[image: image97.wmf]-==

4131

6662

  b) 
[image: image98.wmf]-=

312

333

 
15. a) 
[image: image99.wmf]-==

7521

8884

  b) 
[image: image100.wmf]-=

312

555


16. a) 
[image: image101.wmf]1

3

  b) 
[image: image102.wmf]3

4

  c) 0  d) 
[image: image103.wmf]3

5

  e) 
[image: image104.wmf]1

2

  f) 
[image: image105.wmf]3

5


17. a) No. He needs 
[image: image106.wmf]1

5

 of a jar more.

b) 
[image: image107.wmf]3

5

 of a jar


Chapter 6 Practice Test, pages 224–225

 1. C  2. B  3. C  4. D  5. C

	 6. The common factors of 54 and 36 are 1, 2, 3, 6, 9, and 18.
	[image: image108.jpg]





 7. a) 
[image: image109.wmf]4

5

  b) 
[image: image110.wmf]15

16

  c) 
[image: image111.wmf]2

5


 8. a) 
[image: image112.wmf]+=

257

101010

  b) 
[image: image113.wmf]+==

1893

1212124


 9. a) 
[image: image114.wmf]-=

651

666

  b) 
[image: image115.wmf]-==

7162

9993


10. a) 
[image: image116.wmf]2

3

  b) 1  c) 
[image: image117.wmf]5

6


11. a) 
[image: image118.wmf]2

3

  b) 
[image: image119.wmf]4

7

  c) 
[image: image120.wmf]4

5

 d) 
[image: image121.wmf]1

2


12. a) 
[image: image122.wmf]1

2

 of a bag  b) 
[image: image123.wmf]7

8

 of a bag

13. a) No. Jason needs 
[image: image124.wmf]2

9

 of a can of paint more.
b) 
[image: image125.wmf]2

9

 of a can
14. Answers may vary. 1248 is divisible by 4 because the number formed by the last two digits of 1248 is divisible by 2 at least twice. 1248 is also divisible by 8 because 1248 is divisible by 2 at least 3 times.

15. a) Mia: 
[image: image126.wmf]-==

2911189

30303015

  b) No. 
[image: image127.wmf]=

93

155


16. a) No. Ann added the denominators.
b) Answers may vary. For example, 
when you add fractions with common denominators, add the numerators and keep the denominator the same.
c) 
[image: image128.wmf]+=

325
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